HALF YEARLY EXAMINATION 2022-23

Class : Xl
Subject : Chemistry
Time Allowed : 3:00 Hours Max. Marks : 70
Instructions : -
(i) All questions are compulsory extra.
(i) First 15 Minutes are allotted for the candidate to read the question

paper. Atthe second bell you will start writing your answers.
(iii) This question paper is divided into Four Sections 'A. B. C and D"

(iv) Marks are indicated against each questions. Read the question
very carefully before answering them.

(V) Please check that the questions paper contains total 07 questions
and the No. of printed paperis 06.
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(®) fFr=faReadA e akta meas a8 - 1
(¥) CaCo, (@) Ca0
(@) Sio, (a) Mgo
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(@) zZn” (@) Cu”
(1) Ag” (") 1,
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(@) NaCl (@) KCl
(71) AgBr (&) CscCl
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(71) 0.027 (a) o.04s
Whih of the following is not alkaline standard.
(i) CaCo, (i) CaO

(i) SiO, (iv) Mgo

What is the first reduction of H' ion at platinum electrode.
(i) Zn" (i) Cu++

(i)  Ag” (iv) I

The compound Showing both Frenkel and schottky defectis.
(i) NaCl (b) KCI

(i) AgBr (iv) CsCi
‘Whichone s :"I']DS!: acidic is given below ?

(i) PO, (i) N0,

(iii) AS,0, (ivy Sb,0,

Who makes coloured salts ?

(i) Metal (il) Nonmetal

(i) p-blockelement (iv) Tronsition element
in a molal solution the mole frection of soluteis :

(i) 0.009 (i) 0.018
(i) 0.027 (iv) 0.045
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Explain Electrodialysis.

What is first order of reaction.

The boiling point of noble gases increate with inceasing atormi
Mass. Explain.

What are ligands classified on the basis of charge ?

2

fRvsaiuua frasea® ?
AR ATAD AT IR AT Arerhar Bl aRATa BT | 2
2.25 TTH To[PIST (YR = 180 ) P 25 UTH Sfel | HIe W
RuidF 0.93°C DN AN Y, 51 D Hietel AT RAAD B
O HIFAT| 2
Pr=farfRaa 2 el & gl A= falag | 2

(®) Cr” (@) ce™

What is Tyndall Effect.
Define Molar conductivities an Equivalents conductivity

When 2.25gm of Glucose (molecular Mass = 180) is added to

25gm of water, the freezing point decrease by 0-93°C,
Calculate the Molar depression constant of water.

Write the electronic configuration of the following twoions :

i cr® iy Cce"

AR SeireE e ®’0 ¥ ? FETERYl BN WHHAEY | EEe
ﬁﬁiﬁiﬁmiﬁrmﬁﬁfﬁmﬁ@? 3
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WHHUT g T ¥ 7 A H01 acal Y uxAr] Breard R Sh
R wT aRafa A Y ? ,

Rreay FCC wira® 1 freaiad ol &, afs i@ @ fmy
TS 4.077 x 10° cm 91 99 10.5gm/cm’ %?ﬁ e a

QRHTO} ST DY O DY | 3
YRR <11 Urav] <79 fra e § P 3
What is an interhologen compound ? Explain by example,
Write chemical equation for the formation of hologens.

What is transition element. How do the atomic radii of
transition element change in describe.

Silver cryctallizes in FCC lattice. If the length of the edge of the
scum is 4.077x10%cm and density is 10.5gmi/cm®. Calculate
the atomic mass of silver. https://'www.upboardonline.com

What are osmosis and osmotic pressure called ?

frefarfRaa @ IUPAC 7 fafRag | 4
(31) K,[Fe(CN)] (|) [Fe(co)dl
(|) [Cr(NH,), Cl,] (€) [Cu(NH,).ISO,

v rarafE sifwfda 1A 290 K 1 agTPhY 30 OK FH T
Wﬁﬁﬁﬁiﬁmﬁ%,mﬁmtﬁﬂﬁsﬂwma

|1 ST DTS 1 (R= 8. 314J/K/mol, log2=0.3010) 4
PreafaRaa o feooh falag — 4
(31) ETSAF (a) wver ;
wm%%wﬁmwﬁﬁm%.w
fr=aTe o SR TR FHD TAATE | :

Write the IUPAC name of the following -
0 KU[Fe(CN)l (i) [Fe(co)l
iy [Cr(NH),CL] (v)  [CuN H,).JSO.

o
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When the te

290 to 'mﬂk-::perature of a chemical reaction is raised from
fi(‘livqt" e rate of the reaction double. Find the value of
ariivation energy of the reaction.

(R=8.314 J/K/mol, log2 = 0.301 0)
Write short notes on following topic -
(i) Brownian movement (i)  Molarity

What i .
- Tt.ls_the reasion the noble gases one. Chemically insert ?
Xplainiton the basis of electronic configuration.

9.6 m%ﬁm?ﬁmaﬁﬁmlmmmﬁam{mzmmaﬂ
100 WM™ SIS ¥ witen R | AfE 20°C 9R g el B AT =T 17
535mm hg & @ faera= &1 are T s A 2+3

STl

STTERTOT ] 3119 o1 ey 4T 32 5ot B e s s 2 5
(@) (31) -mefesd ara (HNO,) 9919 &) 3ivealcs AR &1 af=

5. (a)

oA HY | 3

(7)) = wwafe afafya o gl S — 2
HNO, + HCI S +H,0+Cl,
CaOCl,+PbO — ..... ereennns +CaCl,

R

HCI, NaCl &1 CH,COONa & fég 5 2 & dF HHel:
426.1, 126.5 921 91.0 Q'cm’mol” ¥ | THRR® v &

G 5 % B AT B MO BT |

The value of A m of HCI, NaCl, CH, COONa are 426.1,
126.5 and 91.0 O 'cm’mol” respectively. Then Calculate
the alue of A m for acitic acid. 2

Explain the Raoult's law, 100gm of water is dissolved in 18gm
of a non volatile solid (m = 180) If the vapour of pure water at
20°C is 17.535 mm Hg. Find the Vapour pressure of the

solution.
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OR
What is meant by adsorption 7 How its classified 7
(i) Describe the ostwaldmethod of Preparation of Nitric
Acid (HNO,)
(i) Complete the following reaction.

(a) HNO,+HCI B eereeaaeaes +H,0+Cl,

(b) CaOCl,+PbO — ..o +CaCl,

R B B verd i B siffEm @ 3/4 W gl B A
Wﬂﬂﬁﬂaﬁmﬁfiﬁmaﬂqﬁmﬁﬁaﬂwmqﬂmﬁm%ls

areral
FTBIN S ?m(mmﬁmwﬁm%ﬁyﬁ)
(a1) Wﬁwqﬁmaﬂgﬁgqiﬁzﬁwwﬁﬁmm%n

(a) KIG’E@?WﬁOJWﬁHWW%i 1

(=) 1,95 i A NaOH A S E | 1

(€) PCij,ﬁW?ﬁwamﬁWWﬁ%i 1

(=) e STE IS B 3TH HRAE | 1

?ﬂﬁfﬂaﬁaﬁwaﬁo3ﬁnﬁﬁﬁaﬂﬂﬁﬁmﬁzﬁﬁm 5
31yl

Wﬂan—gﬁaﬁgamaqzﬁaﬁammmmi 2
Mg(s) | Mg™ (0.1m) | | Cu™ (1x10" m) | Cu(s) A & EMf3
oI HIOTC | .
e -

E°Cu’"/Cu=0.34V

E°Mg /Mg =2.37V

ISTRY
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prove that ﬂje time taken to complete 3/4 of the first order
reaction is twice the time taken to complete half reaction.

OR
what happen’s ? When (Only given chemical reaction)
M Ammonium Chloride is heated with slaked lime
(i) O,is passedinto aq. solution of KI.

(a)

(i) ~ Onreaction with con Cs NaOH of )
(iv)  PClreacts with H,0
(v)  When heated with Ammonium dichromate.
(b)  Explain preparation of O, by siemen's Ozoniser with figure.
OR
(i) Explain strong and weak electrolytes with example.
(i) Mg (s) | mg” (0.1M) | | Cu" (1x10"'m) \Cu (s) Cell's
EMTf calculate.
Given
E°Cu”/Cu=0.34V
E°Mg”' /Mg=-2.37V
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